TERESINA

=

[
N, —©




1/11



22222222222222222222



1 2
\\
———————
X 1 X 1
3 4
/
\/ §
X 1 X 2
5 6
X 1
7/
X 1
9
X 4 X 2 X 2

3/11

2364/TERESINA/160525/



M3.5

X 8 X 24
C
X 12
E
:@0
F G
2
=
X 16 X 16
H | J
§!Ei!==
S | T
X 4 X8

4/11

2364/TERESINA/160525/



Ay <
) X
N <
<: T

() mm> x
—
\© x

n/ %

5/11

2364/TERESINA/160525/



6/11

2364/TERESINA/160525/



7/11

2364/TERESINA/160525/



M3.5

14

X 16

Gﬁwy4

WE/AN

0

1

x 1

8/11

2364/TERESINA/160525/



8x2

D2

M3.5
% X
14

9/11

2364/TERESINA/160525/



0

1

10/11

2364/TERESINA/160525/



11/11

2364/TERESINA/160525/


http://www.tcpdf.org

